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dy 2Y

ax T i+x Y () =
Y

X =0.100

BRAZx  1.210000000000000

S5EEIAR 1.209999999975553

X = 8.00

BEEARE  80.99999999999968

5REIAR 80.99999999221187
Y

X =0.100

BfRA®  1.210000000000000

EHFIAE  1.209999999992628

X = 8.00

AR 80.99999999999970

§REAR 80.99999999728218

Y-Y (X)

0.4441D-15

-0.2445D-10

-0.3233D-12

-0.7788D-08

Y-Y (X)

0.4441D-15

-0.7371D-11

-0.3055D~-12

-0.2718D-08
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0> 171 1
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DF2= 0.2000000000000000D-01

K2P= 0.1999999932013452D-01

DF2= 0.1999999999999992D-01

K2P= 0.1999999955296516D-01

-DF2= 0.2000000000000000D-01

K2P= 0.1999999932013452D0-01
DF5=-0.1999999999999883D~01
K5P=-0.1999999530380592D0-01

DF2= 0.1999999999999992D0-01
K2P= 0.2000000048428774D-01
DF5=-0.2000000000000128D-01
KSP=-0.20000000484287740-01
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) |
Y 100 (sinz -3 ). y(0) =0, h=0.02
d % v

X —0.2000-01 Y Y-Y (X) 5 REVANR ~FRARK

HPRAE 0.1066617778545398D-01 -0.6867D-03 DF2= 0.4000000000000000D0~01

SIEIARK 0.1066617778545398D-01 ~-0.6867D-03 0.0 K2P= 0.3999999999999999D-01

X =0.600

wrEAT, 0.5563334038353878 -0.8006D-07 DF2=—O.2161664493640769D—03

SIREIAK 0.5563334038329613 -0.8006D-07 -0.2427E-11 K2P=-0.21616637241095300-03
Y Y-Y (X) 8 RENAK —BIRARK

X =0.200D0-01

BRRAF  0.1155507852542099D-01 0.2022D-03 DF2= 0.4000000000000000D-01

K2P= 0.3999999999999999D0~-01
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. K5P= 0.6213155911318609

X =0.600

BREAX 0.5563334958160904 0.1192D-07 DF2=-0.2157938824054595D~-03
K2P=-0.2157938433811069D-03
§ikEIAF 0.5563334958215191 0.1192D-07 0.5429E-11 DFS= 0.2574612362255157D~03

KSP= 0.2574761165305972D-03
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